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=] = P A - [ UE D\ | = = U2 A\ - = U D\ = =
1 100kN/mM#%#B x5 1.00| 000 ~ 1.50 122.87 [3m%EEZ 5 -~ — — —| 100kN/m%#%%| 1.00 (1060 ~ 15.89 122.87 [3mZEHEZ 5 -~ - — —
zhs 1.00] 1.50 ~ 9.29 100.00 | Zh st | 000 ~ 929 | 231 11.70 zh s 1.00 | 500 ~ 10.60 100.00 | ZhList | 500 ~ 1589 | 2.31 11.70
2 100kN/mM#%#B x5 1.00| 000 ~ 1.26 11912 [3mZEEZ 5 -~ — — —| 100kN/m%#8%%| 1.00 (1054 ~ 1452 11912 [3mZEEZ 5 -~ - — —
zhs 1.00] 1.26 ~ 9.05 100.00 | Zh st | 0.00 ~ 9.05| 221 11.17 zh s 1.00 | 500 ~ 10.54 100.00 | ZhList | 5.00 ~ 1452 2.21 11.17
3 100kN/mM#%#B x5 - -~ - —|3mZEEZD -~ - - —| 100kN/ Mm% % % — -~ - —|3mZE#ZD -~ — - -
zhs 1.00 | 0.00 ~ 5.07 63.17 | Zhllst | 000 ~ 0.00 | 1.73 8.74 zh s 1.00| 500 ~ 540 63.17 | Zhllst | 5.00 ~ 540 1.73 8.74
4 100kN/mM#%#B x5 - -~ - —|3mZEEZD -~ - - —| 100kN/ Mm% % % — -~ - —|3mZE#ZD -~ — - -
zh s 1.00| 0.00 ~ 5.20 64.77 | TSt | 000 ~ 520 | 1.92 9.72 zhs 1.00| 500 ~ 6.00 64.77 | #nllst | 5.00 ~ 6.00| 1.92 9.72
5 100kN/mM#%#B x5 - -~ - —|3mZEEZD -~ - - —| 100kN/ Mm% % % — -~ - —|3mZE#ZD -~ — - -
zh s 1.00 | 0.00 ~ 4.77 5940 | Zh LSt | 000 ~ 0.00| 1.76 8.88 zhs 1.00| 500 ~ 5.00 5940 | Zhblist | 5.00 ~ 500 1.76 8.88
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100kN/mM#%#BZ % ~ 3ImEHEZD ~ 100kN/mM%#BZ % ~ 3ImEHEZD ~
Th s ~ Zhst ~ Th s ~ Zhs ~
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100kN/mM#%#BZ % ~ 3ImEHEZD ~ 100kN/mM%#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zzhs ~
100kN/mM#%#BZ % ~ 3ImzHEZD ~ 100kN/mM#%#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zzhs ~
100kN/mM#%#BZ % ~ 3ImEHEZD ~ 100kN/mM#%#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zzhs ~
100kN/mM%#BZ % ~ 3ImEHEZD ~ 100kN/mM#%#BZ % ~ 3ImEHEZD ~
Th s ~ Zhst ~ Th s ~ Zhst ~
100kN/mM%#B 2% ~ 3ImEHEZD ~ 100kN/mM#%#BZ % ~ 3ImEHEZD ~
ZTh s ~ Zh st ~ ZTh s ~ Zh st ~
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